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1. This circuit has three inputs: ,  
and . The output of the circuit is . 
The output is related to the inputs by 
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1 2ov a v b v c v= + + 3  

 
where a, b and c are constants.  
 
 
Determine the values of a, b and c. 
 

 
 

 
2. This circuit has two inputs:  and . 
The output of the circuit is . The 
output is related to the inputs by 
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1 2ov a v b v= +  

 
where a and b are constants.  
 
Determine the values of a and b. 

 

 
 
 
 
 

 


	where a, b and c are constants. 
	Determine the values of a, b and c.
	where a and b are constants. 
	Determine the values of a and b.

